
16.11.21 - Tuesday

Year 6 Home Learning



Maths



1) Complete the calculation that is represented:

2) 

3) Write your answer in its simplest form:
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Have a think
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Complete the calculations: 
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Complete the calculations: 

Divide each 
part into 4

Divide each 
part into 3 2
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Complete the calculations: 
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Complete the calculations: 

Multiples of 9: 9, 18, 27, 36, 45

Multiples of 6: 6, 12, 18, 24, 30
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Have a go at the questions on the 
worksheet
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Multiples of 4: 4, 8, 12, 16, 20

Multiples of 5: 5, 10, 15, 20, 25
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Guided Reading

Use the Firebird text found in 
Monday’s PDF.







English



Beowulf – Newspaper Report – Phase 1

LO: To create a character map for the entire story

Create a character map for the story using what you know so far.

Use the example on the next page to support you.





Geography

















Research and fill 
in the glossary.




